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Chapter 4

Shares and Dividend

POINTS TO REMEMBER

A share is said to be :

* 1. The total money needed is called the Capital and whole capital is divided with equal small units,
. called Shares.

The person who invests money in shares is called share holder.
Dividend. The annual profit distributed among share holders is called dividend.

Nominal Value (N.V.) of a Share. The value of a share printed on the share certificate is all
Nominal Value or Face Value or Par Value. '

Note. Dividend is always reckoned on the face value of a share.

Market Value of a Share. The shares can be bought or sold in the market through stock
exchange. The value for which a share is sold or bought in the market is called Market Value. It
can be equal, more or less than its face value.

(i) At par, if its market value is the same as its face value.

(i) At Premium or Above Par, if its market value is more than its face-value. |
(iii) At Discount or Below Par, if its market value is less than its face—value.
Note. Market Value of a share changes from time to time.

Q. 1.

Sol.

Q. 2.

Sol.

EXERCISE 4

Find the market value of 325, Rs. 100
shares at premium of Rs. 18.

Face value of a share = Rs.- 100
I\ff‘[arket value of a share = Rs. 100 + 18
=Rs. 118
No. of shares = 325
. Market value of 325 shares
= Rs. 118 x 325
= Rs. 38350 Ans.

A man buys 500, Rs. 100 shares at
Rs. 14 below par. How much money
does he pay ?

Market value of each share

Sol.

=Rs. 100 — Rs. 14 = Rs. 86
No. of shares = 500

.. Total money to be paid for the
purchase of 500 shares = Rs. 86 x 500

= Rs. 43000 Ans.

. How much money will be required to

buy 125, Rs.25 shares at a discount of
RBisie/ 7

No. of shares = 125
Market value of each share
=S 20 RS, 7= R5."18
~. Total amount to be required
. =Rs.18x 125
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Q. 4.

Sol.

Sol.

Sol.

Q..

Sol.
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= Rs. 2250 Ans.

Find the investment in buying 150,
Rs. 30 shares at Rs. 6 above par.

No. of shares = 150
Market value of each share
= Rs. 30 + 6 = Rs. 36
.. Total investment required
=Rs. 36 x 150 = Rs. 5400 Ans.

of Rs. 25 each, when 8% dividend i1s
declared. i

No. of shares = 260

Face value of each share = Rs. 25

Rate of dividend = 8%

-. Total investment = Rs. 25 x 260
= 6500

Total dividend received

] 8
= Rs. 6500 X m

= Rs. 520 Ans.

. If the dividend received from 9% Rs.

20 shares is Rs. 1620, find the number
of shares.

Total dividend = Rs. 1620
Rate = 9%
1620 x 100

9
= Rs. 180 x 100 = Rs. 18000

Face value of each share = Rs. 20
. No. of shares = Rs. 18000 = Rs. 20
=900 Ans.

By investing Rs. 12750 in a company,
paying 8% dividend, an annual income
of Rs. 1200 is received. What is the
market value of each Rs. 100 share ?

Total investment = Rs. 12750
Rate of dividend = 8%

Face value of each s_hare = Rs. 100

. Total investment = Rs.
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. Find the dividend received on 260 shares

Sol.

Sol.

. By investing Rs. 11440 in a company,

. How much should a man invest in Rs.
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Total dividend received — it L

1200

. No. of shares = S =150

Now, market value of 150 shares
=Rs. 12750
and market value of each share

12750
= Rs.—— = i
150 Rs. 85 Ans

paying 10% dividend, an annual income
of Rs. 520 is received. What is the
market value of each Rs. 50 shares ?

Total investment = Rs. 11440
Rate of dividend = 10%

Annual income = Rs. 520

Face value of each share = Rs. 50

520 x 100

10x50

. Market value of 104 shares
= Rs. 11440

. Market vlaue of each share

g 10440

= Rs. = _
™ Rs. 110 Ans

104

No. of shares =

25 shares, selling at Rs. 36 to obtain and
annual income of Rs. 1500, if the
dividend declared is 12% ?

Face value of each sare = Rs. 25
Market value = Rs. 36

Annual income = Rs. 1500_

Rate of dividend = 12%

-, Total face value of shares

1500 x 100
Td

For the purchase of Rs. 25 sharc._.
investment = Rs. 36

For the purchase of shares of Rs. 12500,
investment

_ 12500 x 36
' 29

= Rs.

= Rs. 12500

= 500 x 36
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Sol. Income on Rs. 100 = Rs. 10

.. Income on Rs. 10 = Rs. L€ LD ~ Re. 1
100
Now, interest on Rs. 12 = Re. 1
1 x100
L] n =
.. Interest% T
25 1
= — =8 =% :
3 3 o Ans

Q.12. Mohan Lal invested Rs. 29,040 in 15%,
~ Rs. 100 shares of a company quoted at a

premium of 20%. Calculate :  (2005)
(i) The number of shares bought by Mohan
Lal.

(ii) His annual income from shares,

(tii) The percentage return on his investment.
Sol. (i) M.V. of one share

[ﬂ %100 +100
100: 500 -

=TRS.120

.
—

Investment
M.V. of 1 share

| No. of shares =

(ii7) Percentage return =

49 Arundeep's Foundation Math-X
= Rs. 18000 Ans. | ‘ 20040
Q. 10. How much should a man invest in =Rs. 120
Rs. 100 shares, selling at Rs. 110 to
obtain an annual income of Rs. 1520, if S = Rs. 242 Ans.
the dividend declared is 8% ? (i1) Income = 242 X 15
Sol. Face value of each share = Rs. 100 = Rs. 3,630 Ans.
Market value of each share = Rs. 110 dividend
Annual income = Rs. 1520 (i) - rate % = M.V x 100
Rate of dividend = 8% 168
1520 x 100 L o
Total face value of shares = . e 100 =12.5% Ans.
= Rs. 19000 Q. 13. Amit Kumar invests Rs. 36,000 in buying
Total investment for the purchase of Rs. 100 shares at Rs. 20 premium. The
shares dividend is 15% per annum. Find :
_Rs. 19000 x 110 -_ Rs. 190 x 110 (i) The number of shares he buys
100 (i1) His yearly dividend
- 9 Rs. 20900 A“S" (iii) The percentage return on his investment.
Q. 11. What is the percfenta%e interest on the Give your answer correct to the nearest
E&pliﬂé 1ivested in :{O /alszhires, when a - ROl nitmbey (2009)
P PR BOrS, FOBIS Ins. ' Sol. Investment by Amit Kumar =Rs. 36000

Face value of each share = Rs. 100

Market value at Rs. 20 premium = Rs. 100
+ 20 =Rs. 120

Rate of dividend = 15%
(i) .. Number of shares purchased = Rs.

36000

v
(i7) Yearly dividend = 300 x 15 = Rs. 4500

300

4500 x100
36000

Q. 14. A man invests Rs. 8800 on buying
shares of face value Rs. 100 each at a
premium of 10%, If he earns Rs. 1200
at the end of the year as dividend, find :

(i) the number of shares he has in the
company.

=13 570

(if) the dividend percentage per share.
Sol. Investment = Rs. 8800
Face value of each share = Rs. 100

Market value of each share
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(1)

(i7)
Q. 15.

(7)
(i1)
Sol.

(if)

Q. 16.

(1)

=Rs. 100 + 10 = Rs. 110
Amount of dividend = Rs. 1200

8800
110

=80

No. of shares purchased = Rs

1200
Rate of dividend = RS'E_ = 15% Ans.

A man invests a sum of money in Rs.

100 shares, paying 10% dividend and

quoted at 20% premium. If his annual
dividend from these shares is Rs. 560,
calculate :

his total investment,
the rate of return on his investment.
Face value of each share = Rs. 100
Market value of each share

= Rs. 100 + 20 = Rs. 120
Rate of dividend = 10%
Annual dividend = Rs. 560

560
*. Total investment = T x 120

= Rs. 6720
Rate of return on investment

560x 100 25, 1
LS g BOEAR e
6720 B s 0

A man invests a sum of money in Rs.
25 shares, paying 12% dividend and
quoted at Rs. 36. If his annual income
from these shares is Rs. 720, calculate :

— RS,

his total investment,

(ii) the number of shares bought by him,

(iii)
Sol.

(1)

the percentage return on his investment.
Face value of each share = Rs. 25
Market value of each share = Rs. 36
Rate of dividend = 12%

Total income from shares = Rs. 720

Dividend on R 25—£x25*Rs3
ividend on Rs. 100 :

= Rs. 36

(i1)

(iii)

Q. 17.

(i)
(i1)
(iii)

Sol.

(1)

(i1)

(iii) Rate of interest received in investment
© 480x100 48 3

and if dividend is Rs. 720, then
investment

= Rs.?;—ﬁ X T20="R812:%:720
.= Rs. 8640
No. of shares boﬁght = RS-E-?;E =240
Percentage of return

Ans.

A man buys 400, Rs. 10 shares at a

premium of Rs. 2:50 on each share. If
the rate of dividend is 12%, find :

his investment ;
annual dividend received by him ;

rate of interest received by him on his
money.

No. of shares purchased = 400
Face value of each share = Rs. 10
Market value of each share
=Rs, 10 +2:50 = Rs. 12:50
Rate of dividend = 12%
Dividend on each share
12 x 10

= = Rs.1:20
100 -

. Total investment = Rs. 12-50 X 400
=-Rs. 5000
Annual dividend =400 x 1-:20 =Rs. 480

5000 5 3

18. A company with 4000 shares of nominal
value of Rs. 110 each declares an annual
dividend of 15%. Calculate :

(i) The total amount of dividend paid by the
company.

(i7) The annual income of Ratan Shahwho holds
88 shares in the company.

<. If dividend is Rs. 3 then investment ;) If he received only 10% on his investment, |
find the priceRatan Shah paid for each share. |
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Sol. Number of shares = 4000
Nominal value of each share = Rs. 110
Annual dividend = 15%

Total face value of 4000 shares = 4000 x
110 = Rs. 440000 '

440000x15

100
= Rs. 66000

(11) Number of shares Shah Rukh rules has = 88
.'. Nominal value of 88 shares = 88 x 110

(i) Amount of dividend =

= Rs. 9680
and annual income he received
U o
= Rs. 100 = Rs.
(iif) His annual income is 10% on his investing
1452 %100
‘. Investment = T = Rs. 14520
| 14520
. Market value of each share = Rs. 33

= Rs. 165

Q. 19. A company declares a dividend of 8%
on Rs. 100 shares. Atul buys such shares
and gets 10% on his investment. At what
price does he buy each share ?

Sol. Face value of each share = Rs. 100

Rate of dividend = 8%

Interest on investment = 10%
Dividend on Rs. 100 = Rs. 8

If interest is Rs. 10, then inves_tment

= Rs. 100 ;
and if interest is Rs. 8, then investment
100 x 8
= Rs. = Rs. 80
10 Rs

Hence, marked value of each share
= Rs. 80 Ans.

Deepak invested in Rs. 25 shares of a
company, paying 12% dividend. If he
received 10% per annum on his
investment, at what price did he buy
each share ?

Face value of each share = Rs. 25
Rate of dividend = 12%

Q. 20.

- Sol.

] 25x12_

. Dividend on one share =

3
Rate of interest on investment = 10%

100

If interest is Rs. 10, then investment
= Rs. 100

if interest in Rs. 3, then investment

100
=--—-)(3= ¢
10 Rs. 30

Hence, market value of each share
= Rs. 30 Ans.

At what price should a 10%, Rs. 25
share be quoted when the money is
worth 8%?

Face value of each share = Rs. 25
Dividend = 10%
. Dividend on one share
S10:%25 SRE _5_
100 2
Rate of interest on investment = 8%
If interest is Rs. 8, then investment = Rs. 100

Q. 21.

Sol.

and if interest is Rs. -2-, then investment

125

100)‘:5: RS,T:RS.N'ZS

Q2
Hence, market value of each share

= Rs. 31:25 Ans.

.-Rs. 100 shares of a company are
available in the market at a premium of
Rs. 20. Find the rate of dividend given
by the company, when a man’s return
on his investment 1s 10%.

Face value of each share = Rs. 100
and Market value of each share

= Rs. 100 + Rs. 20 = Rs. 120
Interest on investment = 10%

120x 10

100
. Dividend on one share of Rs. 100=Rs. 12
Hence, rate of dividend = 12% Ans.

= Rs.

Sol.

= RS2

~. Interest on Rs. 120 =
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Q. 23.

Sol.

Q. 24.

Sol.

Sangeeta invests Rs. 16500 partly in
10%, Rs. 100 shares at Rs. 130 and
partly in 8%, Rs. 100 shares at Rs. 120.
[f her total annual income from these
shares be Rs. 1180, find her investment
in each kind of shares.

Investment = Rs. 16500
Total annual income = Rs. 1180

Let investment in 10%, Rs. 100 shares
at Rs. 130 = Rs. x

5 X
: =——x10=Rs. —
.. Income 130 13

and investment 1s 8%, Rs. 100 shares at
Rs. 120 = Rs. (16500 — x)

(16500 — x) x 8

and income = 120
S0l =%
15
According to the condition,
lx; 3 16500 — x 1180

= 15x + 13 (16500 — x) = 1180 % 195
(Multiplying by 195, the
L.C.M. of 13 and 15)

= 15x + 214500 — 13x = 230100
2x =230100 — 214500 = 15600

;. 15600 — 7800

X

Hence investment in first-kind of shares
= Rs. 7800

and investment in second kind of shares
= Rs. (16500 — 7800) = Rs. 8700 Ans.

Divide Rs. 35400 into two parts such
that if one part is invested in 9%, Rs.
100 shares at 4% discount and the other
in 12%, Rs. 50 shares at 8% premium,
the annual incomes are equal.

Total investment = Rs. 35400

Let first part = Rs. x

and second part = Rs. (35400 — x)
In first case, face value = Rs. 100
Market value = Rs. 100 — 4 = Rs. 96

Q. 25.
(i)

(i7)

Sol.

Rate of dividend = 9%

R i 20X DS
. Annual income 0F Lanan
In second case, face value = Rs. 50

8 x50
100
= Rs.50 +4 = Rs. 54

Rate of dividend = 12% or Rs. 6 on -
Rs. 50 share

Market value = Rs. 50 +

6
.. Annual income = (35400 - x) x 7

= (35400 - x) x%

According to the condition,

3x  35400-x
1228 .0
27x = 32 (35400 — x)
= 27x = 1132800 — 32x
= 27x +32x = 1132800
= 59x = 1132800

1132800

== X =19200

.. Investment in first case = Rs. 19200
and investment in second case

= Rs. 35400 — Rs. 19200

= Rs. 16200 Ans.
Which is better investment :

10% Rs. 100 shares at Rs. 120 or 8%,
Rs. 100 shares at Rs. 72.

12%, Rs. 20 shares at Rs. 16 or 15%,
Rs. 20 shares at Rs. 24.

() Let investment-in each case
=Rs. 120 x 72
.. Dividend in first case

120x 72 x 10
120
and dividend in second case

120x 72 x 8

=N =R 12D

= Rs. = Rs.960
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e
It is clear that second investment is .. Total dividend = 750 x 8 = Rs. 6000

‘better. -. Increase in income
(ii) Let investment in each case = Rs. 6000 — Rs. 5250 = Rs. 750 Ans.
= Rs. 16 x 24 Q. 27. Ashish bought 4500, Rs. 10 shares,
Dividend in first case = 16 x 24 paying 12% per annum. He sold them

when the price rose to Rs. 23 and

Annual income of Rs. 20 shares at the invested the proceeds in Rs. 25 shares,

_12x20 12 paying 10% per annum at Rs. 18. Find
rate of 12 % == =Rs. 7 the change in his annual income.
_ | Sol. No. of shares purchased = 4500
Total annual income of Rs. 20 share Face value of each share = Rs. 10
e ity 288 Rate of dividend = 12% p.a.
=RS.16X2 X = Rs.—— = Rs.57°60 4500 x 12 x 10
16 5 5 : .. Total income = 100
In second case,
A b of Rs. 20 share at the s
R £ TEOIRE 2 Y, On selling 4500 shares at the rate of
prlirredy & 15x20 _ Rs3 Rs. 25 each, sale price = 4500 x 23
100 = Rs.
o 16 x24 x 3 2 103500
*. Total annual income Rs. AR Rs. 48 Again purchasing share at Rs. 18, no.
It is clear that first investment is better Ans. SF Shipase 103500 LRT50
Q. 26. Amit owns 1500, Rs. 25 shares of a Sl ;
company which declares a dividend of Rate of dividend = 10%
14%. He sells the shares at Rs. 40 each _ : o a0 x 25% 10
and invests the proceeds in 8%, Rs. 100 7. Total income = 100
shares at Rs. 80. What is the change in = Rs. 2875 + 5 = Rs. 14375
his annual dividend income ? . Increase in income = Rs. 14375
Sol. No. of shares = 1500 - — Rs. 5400 = Rs. 8975 Ans.
Face value of each share = Rs. 25 Q. 28. Vimal sold a certain number of Rs. 20
Rate of dividend = 14% shares, paying 8% dividend,.at Rs. 18
Markeat value of each share = Rs. 40 and invested the proceeds in Rs. 10

shares, paying 12% dividend, at 50%
premium. If his annual dividend income
decreases by Rs. 120, find the number

~.~. Sale price of 1500 shares
= 1500 x 40 = Rs. 60000

: 14 x 25 | of shares sold by Vimal.
Annual income = Rs. 1500 ' _ Sol. Face value of each share = Rs. 20
S he 1500 x 7 b Bt 950 7 < Rs. 5750 Market value of each share = Rs. 18
R ' : Rate of dividend = 8%
In second case, . | Let no. of shares = x
Market value of each share = Rs. 80 . Sale price=x x 18 = Rs. 18x
D, of shares - purchased xx20x8 8
5 Rs. 60000 Annual Dividend = e Rs.gx
80 s 750 In second case, |
B o ol idbnd = §9 Face value of each show = Rs. 10

‘Face value = Rs. 100 Marked value of each share
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e ————————
10 x 150 .
=Rs; 100 = Rs. 15
Rate of dividend = 12%
~ 18x 6x
. No. of shares in this case = =
15 5
6 12:%. 10 5T 30
Dividend on —S'x shares = ;x X 100 =§-5—x
8 36 40x —36x 4
.. Difference in income = gx o E-S-x = Y = -2317
According to the condition,

4 120 x 25
—'x =120 = = /st
25 = 4

*. No. of shares = 750 Ans.

Downloaded from https:// www.studiestoday.com



	Binder
	004_R
	005_L
	006_R
	007_L
	008_R
	009_L
	010_R
	011_L
	012_R
	013_L
	014_R
	015_L
	016_R
	017_L
	018_R
	019_L
	020_R
	021_L
	022_R
	023_L
	024_R
	025_L
	026_R
	027_L
	028_R
	029_L
	030_R
	031_L
	032_R

	Binder1
	013_L
	014_R
	017_L
	018_R
	019_L
	020_R
	023_L
	024_R
	025_L
	026_R
	027_L
	028_R
	029_L
	030_R
	031_L
	032_R
	033_L
	034_R
	035_L
	036_R
	037_L
	038_R
	039_L
	040_R
	041_L
	042_R
	043_L
	044_R
	045_L
	046_R
	047_L
	048_R
	049_L
	050_R
	051_L
	052_R
	053_L
	054_R
	055_L
	056_R
	057_L
	058_R
	059_L
	060_R
	061_L
	062_R
	063_L
	064_R
	065_L
	066_R
	067_L
	068_R
	069_L
	070_R
	071_L
	088_R
	089_L
	090_R
	095_L
	096_R
	097_L
	098_R
	099_L
	100_R
	101_L
	102_R
	103_L
	104_R
	105_L
	106_R
	109_L
	110_R
	111_L
	112_R
	113_L
	114_R
	115_L
	116_R
	117_L
	118_R
	119_L
	120_R
	121_L
	122_R
	123_L
	124_R
	125_L
	126_R
	127_L
	128_R
	129_L
	130_R
	131_L
	132_R
	133_L
	134_R
	135_L
	136_R
	141_L
	142_R
	143_L
	144_R
	145_L
	146_R
	147_L
	148_R
	149_L
	150_R
	151_L
	152_R
	153_L
	154_R
	163_L
	164_R
	165_L
	166_R
	167_L
	168_R
	169_L
	170_R
	171_L
	172_R
	173_L
	174_R
	175_L
	176_R
	177_L
	178_R
	181_L
	182_R
	183_L
	184_R
	185_L
	186_R
	187_L
	188_R
	189_L
	190_R
	191_L
	192_R
	193_L
	194_R
	195_L
	196_R
	197_L
	198_R
	199_L
	200_R
	201_L
	202_R
	203_L
	204_R
	205_L
	206_R
	207_L
	208_R
	211_L
	212_R
	213_L
	214_R
	215_L
	216_R
	217_L
	218_R
	237_L
	238_R
	239_L
	240_R
	241_L
	242_R
	243_L
	244_R
	245_L
	246_R
	247_L
	248_R
	249_L
	250_R
	251_L
	252_R
	255_L
	256_R
	257_L
	258_R
	259_L
	260_R
	261_L
	262_R
	263_L
	264_R
	265_L
	266_R
	267_L
	268_R
	269_L
	270_R
	271_L
	272_R
	273_L
	274_R
	275_L
	276_R
	277_L
	278_R
	279_L
	280_R
	281_L
	282_R
	283_L
	284_R
	285_L
	286_R
	287_L
	288_R
	289_L
	290_R
	291_L
	292_R
	293_L
	294_R
	295_L
	296_R
	297_L
	298_R
	299_L
	300_R
	301_L
	302_R
	303_L
	304_R
	305_L
	306_R
	307_L
	308_R
	309_L
	310_R
	311_L
	312_R
	313_L
	314_R
	315_L
	316_R
	317_L
	318_R
	319_L
	320_R
	321_L
	322_R
	323_L
	324_R
	325_L
	326_R
	327_L
	328_R
	329_L
	330_R
	331_L
	332_R
	333_L
	334_R
	335_L
	336_R
	337_L
	338_R
	339_L
	340_R
	341_L
	342_R
	343_L
	344_R
	345_L
	346_R
	347_L
	348_R
	349_L
	350_R
	351_L
	352_R
	353_L
	354_R
	355_L
	356_R
	357_L
	358_R
	359_L
	360_R
	361_L
	362_R
	363_L
	364_R
	365_L
	366_R
	367_L
	368_R
	369_L
	370_R
	371_L
	372_R
	373_L
	374_R
	375_L
	376_R
	377_L
	378_R
	379_L
	380_R
	381_L
	382_R
	383_L
	384_R
	385_L
	386_R
	387_L
	388_R
	389_L
	390_R
	391_L
	392_R
	393_L
	394_R
	395_L
	396_R
	399_L
	400_R
	401_L
	402_R
	403_L
	404_R
	405_L
	406_R
	407_L
	408_R
	409_L
	410_R
	411_L
	412_R
	413_L
	414_R
	415_L
	416_R
	417_L
	418_R
	419_L
	420_R
	421_L
	422_R
	423_L
	424_R
	425_L
	426_R
	427_L
	428_R
	429_L
	430_R
	431_L
	432_R
	433_L
	434_R
	435_L
	436_R
	437_L
	438_R
	439_L
	440_R
	441_L
	442_R
	443_L
	444_R
	445_L
	446_R
	447_L
	448_R
	449_L
	450_R
	451_L
	452_R
	453_L
	454_R
	455_L
	456_R
	457_L
	458_R
	459_L
	460_R
	461_L
	462_R
	463_L
	464_R
	465_L
	466_R
	467_L
	468_R
	469_L
	470_R
	471_L
	472_R
	473_L
	474_R
	475_L
	476_R
	477_L
	478_R
	479_L
	480_R
	481_L
	482_R
	483_L
	484_R
	485_L
	486_R
	487_L
	488_R
	489_L
	490_R
	491_L
	492_R
	493_L
	494_R
	495_L
	496_R
	497_L
	498_R
	499_L
	500_R
	501_L
	502_R
	503_L
	504_R
	505_L
	506_R
	507_L
	508_R
	509_L
	510_R
	511_L
	512_R
	513_L
	514_R
	515_L
	516_R
	517_L
	518_R
	519_L
	520_R
	521_L
	522_R
	523_L
	524_R
	525_L
	526_R
	527_L
	528_R
	529_L
	530_R
	531_L
	532_R
	533_L
	534_R
	535_L
	536_R
	537_L
	538_R
	539_L
	540_R
	541_L
	542_R
	543_L
	544_R
	545_L
	546_R
	547_L
	548_R
	549_L
	550_R
	551_L
	552_R
	553_L
	554_R
	555_L
	556_R
	557_L
	558_R
	559_L
	560_R
	561_L




